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10 th STD-RABBIT REVISION FOR QUARTERLY EXAM 2024-2025

2-MARKS CHP -1,2,3 AND 5

A = {1,3,5}, B = {2,3} eevfleb (i) AxB wpmib B x A-gg &nevors.
If A ={1,3,5} and B = {2.,3} then (i) find A x B and B x< A.

AxB = {(3.2). (3.4). (5.2). (5.4)} etevfléd A wpHmub B -gg SNeS0TS.

If A< — {(3.2), (3.4), (5.2)., (5,4)} then find A and 3.

HereupeustTeupming A x B, Ax A wpmd B x A @& &metors.
(i) A={2,~2,3} wpmi> B={1,-4} (i) A~ B—{p,q} (iii) A—{m,n}; B—o
Find AxB, AxA and Bx A

(i) A={2,—2,3} and B={1,-4} (ii) A=B={p,q} (iii) A={m.n}; B=0¢

A ={1,2,3} wpmido B = {z | = eredtugl 10-g3 eflL& fAnflws usm erevor} erenfled, A x B ohmid
B x A gydwieuhenns Setors.

Let A ={1,2,3} and B = {z| x is a prime number less than 10}. Find Ax B and B x A.

B xA={(-2,3),(-2,4),(0,3),(0,4),(3,3),(3,4)} erevfled, A wpmip B syflweupenpd
HTE00TS.

If BxA={(—2,3),(—2,4).(0,3).(0,4).(3.3).(3.4)} find A and B.

A={1234,_.45} opmib R eredim 2_mey "A -ulledr 155, 6 erevurevufledT QUT&SD  ereot
auenTnssIU_LIe, [1-g8 Ax A-uleor e L aevuions erpg®. Guweid [-s&meor
LHILSSHEDSWLD, 6§FFHSHEMSIILD HM600TS.

Let A={1,234, .45} and R be the relation defined as “square is of a number” on A.
Write R as a subset of 4 x A. Also, find the domain and range of R.

R eetp @ 2-pey {(:::, y) Jy=z+3, v e {0,123.4, 5}} ETE0TS OBM(b&HSLILIL (bETET ).
Bzt LHUUSSDSWD fiFFs5HmsID HetoTLlE.
A Relation R is given by the set {(:1:, y) /y=x+3, z€{0,1,2,3,4, 5}}. Determine its
domain and range.

X:{l,2,3,4}, Y = {2,4,6,8,10} wpmib R = {(1.2),(2.4).(3.6).(4.8)}
ereufled, 1 SheUTEl Q@ &MY 6Te0Td &ML(b&. GEID SiFeoT WSHLUGHLD,
glewetur HILILSHD HMID 6iF5s5emes HNeous
Let X ={12.3.4} and ¥ ={2.4.6,810} and R = {(1.2).(2.4).(3.6).(4.8)}.

Show that R is a function and find its domain, co-domain and range?
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[X>Y eeip e peuneng f(z) =1° —2 66T euedILMISSILGADE.
B, X = {—2,—1,0,3} whmib> Y = R ereé QsmesorLmed (i) fulledr & m'isewers UL Iqu160be.

(i) f -e® enmuMGLON?
A relation f:X ->Yisdefined by f(x) =2* — 2 where, X = {-2.-1,0,3} and Y=R.

(i) List the elements of f (ii) Is f a function?

f={(z,y) |2,y € N opmib y =22} sheorgy N —6i1 I5HNe0T I £ M6y eTedTs. LoHILILSHD,
glemevut UL LHMID 6iFssHenss sMesus. Bbs £ Dey FTTLMEGLOT?
Let f = {(z,y) | z,y € N and y = 2z} be arelation on N. Find the domain, co-domain

and range. Is this relation a function?

@ +2)— f(2)

r

-80&% SHME0UTSH.

f(x) = 2a+5 erebrad. 2 = 0 erevfleD,

flx 4+ 2)— f(2)

P

Let f(x) = 22+5.1If = = 0 then find

2

A function fis defined by f(z) =3 —2z. Find z such that f(z*) = (f(z))".

[ eeoim &moy flz)=3—2r ereT  eUETWMISHSLILLEMDE.
() = (f(z)) erevlled 7-g& HMevuTa.

A={-2-1,0,1,2} womib f:A— B eeip snjunergy f(z) = 2"+ + 1
Gwed &MY ereufled, B-gg &netors.
If A={-2-1,0,1,2} and f:A— B is an onto function defined by
f(z) =2 + 2 +1 then find B.

[N — Nereoimengunengy f(x) = 3z + 2, z € N eTe0r 6uemTUIMSSLILLL 6D
(i) 1,2, 3 -uledr Hlped 2 _(HEHSemeTs HMevors
(ii) 29 wpmib 53-uledr (Weir 2 (HHHemend HMevurs. (iii) FMILET euemSMWS SHTETUTS.
Let f be a function f : N — N be defined by f(z) =3z + 2,2 € N
(i) Find the images of 1,2, 3 (ii) Find the pre-images of 29, 53
(ii) Identify the type of function

[ aerg R-edlmna R-&@ syeor emiy. Gogub &g f(z) = 37— 5 ereor
GUERTILIMISSLILGBLADEL. (@, 4) hmid (1. b) eTeoTd ASBM(h&HSILLLTE a HmD b -uledr S sHemens
STV E.

Let f be a function from R to R defined by f(x) = 3z — 5. Find the values

of aand b given that (a, 4) and (1, b) belong to f.
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[N — N eettm any f(z) = 22 — 1 eTedT eUeDTUMISSLILLLITED SHiF| 60TNI&HS 66T 6T
gy eutmed GLoed &ML EeDemeD 6TeuTd HML(bs.

Show that the function f: N — N defined by f(z) = 2z — 1 is one-one but not onto.

fN—=N aemp emiy f(m)=m’>+m+3 eer cuenTUMSSILLLTD g QETNISHS
EEDTDITEVT &ML 6TE0TE HITL(b&.

Show that the function f : N — N defined by f(m) = m” + m + 3 is one-one function.

A={-11} wvpmp B={0.2} eers Goaubd, f: A~ B syerg f(r)=ar+b erer
suemTWMISSILLL B eTeufled, a LHMID b -B& STevUTs.

LetA={-Ll}and B = {0,2}. If the function f: A — B defined by f(z)=az +b is

an onto function? Find ¢ and b.

Represent the function f(x)=+/22" — 5z + 3 as a composition of two functions.

f(x)= \/2:1:2 — bx + 3 —s2 &0p snOyserfledt BFLILIMSS SHMISHEH.

fof(k)y=5, f(k) =2k — 1 erevflev, & -uWiledT LOFHlIe>LIS HMTETUTS.

Find Aif f o f(k) = 5 where Ff(&k) — 2H — 1.

f(x) = 2> —1 eteofled (i) fo f (ii) fo f o f —es snetore.

Let f(z) = 2> —1.Find i) fo f (ii) fo fo f

flx)=2"—1, g(z) =2 —2 wOHmMIb g o f(a) =1 erevfled, a-& BMeTUTS.

If f(x)=2"—1, g(x)=2—2 find a,if go f(a)=1.

Let f ={(-13),(0,—1),(2,—9)} be alinear function from 7 into 7Z. Find f(z).

F=1{(-1,3),(0,—1),(2,-9)} syerg 7 -eblmbg 7 -sanen e Gmiflw &miy ereofled,

f(x) -m& eneturs.

AxA smledluedT eLdbméesed Lenerfler, 9 2 miisefled, 2 miiser (—1, 0) whmid (0,1) —wib
BméHng ereofled, A -uled 2 _6lem 2 ML |Hemend SMevord. WHMID AXA —60T L5gLo6iTer
2_MI'SHEWETS SHTEO0TS.

The cartesian product AxA has 9 elements among which (-1, 0) and (0,1) are found.

Find the set A and the remaining elements of AxA.

M.A.SENTHIL KUMARAN VMGHS$$-PKM--THENI DT

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

M.A.SENTHIL KUMARAN VMGHS$$-PKM--THENI DT

210 wHmID 55 SpéieunmleT WLALTH 6LTE euGSHemil 552 — 325 , TedTD
eugeXled eT(p&levTmed = —ufledT WIS HMEvuTS.
If the Highest Common Factor of 210 and 55 is expressible in the form
55x — 325, find

@@ puflLib 532 LWHeen 19seT 2 eeter. sieuf euflwssd 21 Whasm gaer 6igb SibeHs
efipLoLileot. eTéFHemet eUTlemEFHET (LP(LREMLD CILIMILD 6TEITEYLD LOMMILD 6TSHSEWET LhHESTLIQEHET
OSLOHSGLD 6TE0TEYLD SHMETUTS.

A man has 532 flower pots. He wants to arrange them in rows such that each row
contains 21 flower pots. Find the number of completed rows and how many flower
pots are left over.

ax b® = 800 ereiipeunm) SiemL|d S Wlens (P(éssT "o’ HmIb ‘b’ &
SMEOUTS.

[

@ and ‘b’ are two positive integers such that o’ xb* = 800. Find ‘@’ and ‘b’

If 13824 = 2 x 3 then find a and b&.
13824 = 2" < 3" erevfled, a WHMID b —uledT LHLIS STEToTS.

Q@ snLT suflemsuleor aumg 2 mili LNeTeU(HLON 1) CUeRTWNISSILGbLADS.
n (n + 3); n €N @F @Denn 6retor

a, = 2 . . .
n"+1 :nelN gf @rienL erevor

i)

11 —-eugl 2_mif opmid 18 —eug 2 mI'S SHTeturs.
The general term of a sequence is defined as

'n,('n, —+ 3); n < N is odd
a = O
" n® + 1 ;e I is even

Find the eleventh and eighteenth terms.

edTeu@pD ASMLITeulflemaserfledr SithSS CLPeOTM 2 MILIL|HEETS &HITE00T 5.

. 3 ...y 1 2 3
i) 8,24, 72, ... i) 5, 1,—3, ... i) —, —, —, ...
i) (i) (i) ~ 9’ 16
Find the next three terms of the following sequence.
. . ..y 1 2 3
8, 24, 72, ... 5,1,—3, ... -, =, =, ...
(€Y (ii) 4i) - 55 715

WL 2 My 20 y&e b aung eNSEHIINTED S Sh&H6D CISMeSUTL Fnl (b
ML Feuflemgem 6T(R&H6LD.

Write an A.P. whose first term is 20 and common difference is S.

3.6.9.12..... 111 eredtD &L (bd EBTLTEuflemauied 2 erer 2 myiserfleor
6Te0uT6Uu 160 HEW WIS HMEOUTS?

Find the number of terms in the A.P. 3, 6,9, 12,..., 111.
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—11,—15.—19.... eTedD &L (bS OBMLIeUflemEuletr 19 —6ug 2 MliewLS SHTe00Ts.

Find the 19" term of an A.P. —11,—15,—19,...

16, 11, 6, 1,... etétip &nl (bS QOFTLTEUlemFUTD —5H4 ETEITLIF 6THSEMETTIITEUSH 2 MiL|?

Which terrm ofan A.P. 16, 11, 6, 1,...1is —54 ¢

3+k, 18 —k, 5k +1 erettuemen @B Fnl b OSMLTauflemsuled £ etemeur ereufled. A-ulledr
wHIYS HTETS.

If 3 + A, 18 — A, Bk + 1 are in A.P. then find A.

7, 10, y, 24, 2 eeTUEmEN QM FmL(bS B rLieuflensuled 2 eererr erevfled. z. y. =
2y Sweunmedt S STevoTs.
Find z, y and =, given that the numbers z, 10, y, 24, = are in A.P.

Q@ Feoflom siprudler (pHed eauflensuied 20 BHSewsHEHL s 30 eurflenssEnn
2_6ieenT. Si(bSHSHbSHS Geueieun(n euflensuigud H15HG (Whensil auflmssnweil.. revorh
B(HEmSHH6T Fn(bHEOMSH L_aTener. HewLF euflensFulled eTHHemerr HHenHH6T SHISL?

In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each
successive row contains two additional seats than its front row. How many seats are
there in the last row?

et 6)(TH 6UEDTEUDMENT & (bHED HMETUTS.

(i) 3,7,11,... 40 21|56 euemT (ii) 102,97,92,... 27 2 _mii&eT euem
Find the sum of the following
(i) 3, 7, 11,... up to 40 terms. (ii) 102, 97, 92,... up to 27 terms.
9,3, 1,... eTedTD OWLI(HE &S S 1SMLTeuflemsullett S —eug 2 mIlemLS HITe00TSH.

Find the 8th term of the G.P. 9, 3, 1,...

In a G.P. 729, 243, 81,... find ¢_.

729, 243, 81,... eTélTD OIL(HSS&S SMLTeUflemsuiledr T—eug 2 MiLemLS STe00Ts.

r+6, v+ 12 wpmw r + 15 eTeTUST &I LHESS OSTLTeuflensuient aBmLT&dlwimeor
ceiTm) 2 ML &6r ereufled, 7-ufledt wHllewLS SHTeturs.
Find z so that z+6, z+12 and z+ 15 are consecutive terms of a Geometric

Progression.

&6 AILHEHSSESTLY euflemauiesr S—6ug 2 Mty 768 woHmb eurg S50 2 ereufled. Sigeor
10-6ug & _miiemu& SMe0Té.

Find the 10t term of a G.P. whose 8t term is 768 and the common ratio is 2.
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1+44+16+ - ereorn GBMLflEIT THSHEWET 2 MIIL|HEDETS Fol 1q60TTED
F(hded 1365 HemL&H@&b?

How many terms of the series 1+4 + 16 +--- make the sum 13657

1 - a - -
3 4+ 1+ = + ...o0 eTedTm GISIMLledT S cb&Hed HITeCoTH.
Find the suvarmnm 3 1+ 1 — % et
5. 15, 45,

...6T60TM EILHSHSS OSMLT eurflemauilstr (psed 6 2_mliL|&erfledr fn(bSed HMevurs.

Find the sum of first six terms of the G.P. 5, 15, 45, ...

QM LUmESSS gL auflensuler aung efldsb 5 wHmID (PpHed 6 2 miisefler &n(hged
46872 etevfled. 245601 (LPSH6D 2_MLIEMLIS SHTETUTS..

Find the first term of the G.P. whose common ratio 5 and whose sum to first 6 terms
is 46872.

wHn &nrecotes 1 +2 + 3 + ... + 50

Find the value of 1+2+3+ ...+ 50

(b6 &Mevurs. (i) 1+3+5+ . 40 2_miliseT suemr
(ii)2+4+6+---+ 80 (iii) 1+3+5+---+55

Find the sum of

(i) 1+3+5+---to 40 terms
(ii)2+4 + 6+ -+ 80

(iii) 1+ 3 +5 4 +55

Find the sum of (i) 17 + 2% ... +19°
(ii) 5° +10° +15* +..- + 105"

For (bH 6D SITEVTS. (i) 17 + 2% 4+ ... +19°
(ii) 5% +10% +~ 15 + --- + 105"

Fo(bged &smedors (i) 17 +2° +— 3% 4+ ... 167
Find the sum of (i) 1° + 2% + 3% + ... + 16"

1+2+ 3+ ---+ n = 666 erevfled, n—uledT LS SHMECOTS.
If1+2+3+ .-+ n =666 then find n.

1+243+--+k=2325,ereofled 1° +2° +3* +-..+ &* uiledt O FIL| SMe0OTS.
If1+2+3+-+k=2325,thenfind 1* +2° +3* +... + k*.

1P 2% +3° f oo+ k* =44100 etenfled, 1 + 2 + 3 4 -+ | k ulledr oIy &nesors.
If1°4+2° +3* +... + k*=44100then find 1 +2 +3 +--- + k.
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ShenSUTeT QULISHTETF) Lo&E0(60T euLIensLl BUTed SHM) L MG SH&SLD. Spm)
QUL MSEBRSHSL LIDES SHHenSUNeiT aULISTETS] Lo&H6ufledT eUILIEDSLIBLITED HeiTE oL@ MNHHLD.
SHewg LHMID &efleor FHELMEMSIL QUG (CUBLHIS6TleD) HMetors.

The father’s age is six times his son’s age. Six years hence the age of father
will be four times his son’s age. Find the present ages (in years) of the son and father.

Solve 20 —3y =6, x +y =1

Find the LCM of the following
(i) 82'y*, 4827y (ii) 5z — 10, 52* — 20
LedTeu(HeuaTEUDMING L5.£.LD HT600TS.
(i) 8z'y*, 4827y" (ii) 5z — 10, 52° — 20

Find the LCM of the given expressions.
(i) 42y, 82y (ii)9a°b*, 12a°b°c (iii) 16m, 12m*n®, 8n®

HeiTeumeuatTeuDMID @& L5.4.0 &HMetors.
(i) 47y, Sz’ (ii) 9a°b*, 12a°b%c (iii) 16m, 12m’n’, 8n’

&g (pm Csmemeusemer ererfll 66D F(IHHESS.

N z—3 . z’ —16
(i) —— (ii) ——— .
xr —9 " + 8x + 16
Reduce the rational expressions to its lowest form
i) = (i)
T —9 x° + 8x + 16

Hetteu(pLD Bamemeuserfledr elessLLLL WL HTevors.

.~ T +10 n Tp+2
(i) L (i) —————
8z 8p” +13p +5
Find the excluded values of the following expressions (if any).
(i) x + 10 (ii) - i Tp + 2
Sx Sp” +13p +5

3:2—1 ;'E2—1

ereflw ugeln&& &HHSS. > ;. , Reduce: =

N 2Ty . . o 2 rt —1 . .
(i) — - — - LGBESS. (ii) -8~ "D LBEGS.
9y~ T r—1 a b
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.3 e 472 22
(i) Multiply “— by 2% (ii) Multiply =2 by £ 1
9y° x° x—1 a*b?®
FIHB S S Simplify
142, P .\ 4Ax%y  6xz?
(i) A ‘;y o (1_1,,,,) (i) — e
2=~ 20 2z 20y

Find the square root of the following expressions
‘i) 2 ( )8( f)4( )1&( ])‘)” (ii) 144 a® b2 ¢
) 256(x — a x — b xr — C x — d)” ii E— -

81 fg* n'tt

PSS H6toTL. BHMetr U ETTI60T SUT &H& CLPEDLD SHITSTOTS.
(i) 256(x — a)*(x —b)* (& — ) (x — d)*°
144 a® b2 '°
81f12‘g4 }}’14

(ii)

LN ebTeU(HeUTTEUMNIEIT 6UTHS CLPEDLD HTETUTSH.
i 400"y 2" i 121(a + b)* (z + v)* (b — ¢)*
10025y 2* 81(b — ) (a — )" (b — )

Find the square root of the following rational expressions.
400zt 2" i 121(a + 0)*(x + v)*(b — ¢)*
10025y 2* 81(b — e)'(a — ) (b — o)

x> + 8x + 12 eredtm By CasmemauuiedT ILLESUIfISHemensS HITe00TS.

Find the zeroes of the quadratic expression z° + 8z + 12.

eLpeorTu 66T Sin(hS60 LOHMID EILHESED SSSHTETIONN ASM(HSHSLILIL (beiTereuT
eTevfled, SIUDNISSS 5SS SBLIYE FOETLTHSHEMENS SHETUTLIS.
N T
(i) 9, 14 (ii) ——, —
) ) 24
Write down the quadratic equation in general form for which sum and
product of the roots are given below.
(i) 9, 14 (ii) —

5

[SORIEN|

o |

SB& QBNbeHSLILL(beTen @BUIGE FDETUMbLSETE cLpaorhserleir &n (bsed
LOHMID ALBSSDOLIEET SHAEUDEWDES HTETUTS.
(i) 2° +82-65=0 (ii) 22° +524+7=0 (iii) k2* — k2 —2k* =0

Find the sum and product of the roots for each of the following quadratic
equations: (i) z° +8z—65=0 (ii) 22° +52+7=0
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6T 6T6tuT LOPHMILD SiHETT Heweo Sl SpAieunredn eNSHwinsd % eTeufled, SIS 6TEUUTEW 60UTE
. 3]
HITE00TS.

If the ditference between a number and its reciprocal is %, find the number.
5

WetTeuHo SHUIGE FLOEITUM(bSHETTI60T cLpeDrISETIEN H60TEMDEMIULIS SHTETTS.
(i) —2—20=0 (ii) 92" — 242+ 16 = 0 (iii) 22" =22 +9 =0
Determine the nature of roots for the following quadratic equations

(i) —x—20=0 (ii) 92° — 242+ 16 =0 (iii)22° =22 +9=0

(—3,5), (5,6) wOHMID (5,—2) SpHEWEUDEDD (PEWENSHENTHS IS TETITL
(WEBaMevuTS S 60T LILIemLUS ST600TS.

Find the area of the triangle whose vertices are (—3,5), (5,6) and (5,—2)

ef sewpuler gemonerg @GT wrdflwner (WesBanewr algeus HenT
QbeewETS Gl&mstuih (tiles) siemsEslLGADS. SiHed e eler (emerser (-3.2),(-1,-1)
wHnId (1,2) SyGD. HDISTETHEDS (P(REDLINS Sienods 110 Qovsear BsemauliLbSaTDg
eTeofle, Si560T LTLIemUS SIT600TE.
The floor of a hall is covered with identical tiles which are in the shapes of
triangles. One such triangle has the vertices at (—3,2), (—1,—1) and (L,2). If the floor of
the hall is completely covered by 110 tiles, find the area of the floor.

If the points A(—3,9), B(a,b) and C(4,—5) are collinear and if a + 6 = 1, then find
aand b.

A(=3,9), B(a,b) womup C(4,—5) ereituenr & G&MLemiobg LeTaflasr opmid a +b = 1

ereufled, a LHMID b —ulledr HlliewLS SHTevurs.

& s evoTL LieerflEenmed Siemos LG (eHEHMesorSHEeir LITLIL| SHT6e00Ts.
(1) (13_1): (_4: 6) LD_[j)D]Lb (_3> _5) (11) (_101 _4)> (_8> _1) LDﬂ.)D]Lb (_3: _5)

Find the area of the triangle formed by the points
(1) (11_1)3 (_4> 6) and (_3: _5) (11) (_10) _4)> (_8> _1) and (_33 _5)

QSBMbSSLILLL LieTerflsener Qemevord@Ld GhiI HBSHMLIG60T FTLIEWEUS SHIT6OUTS.
(i) (—6,1) pmid (—3,2) ii) (14,10) wpmib (14,—6)
Find the slope of a line joining the given points

(i) (=6,1) and (=3,2) ii) (14,10) and (14,—6)
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(-2, 2), (5, 8) eretrp yeneflser euflé elgeb@id CoHI&EGSMb 7 LHMID
(=8, 7), (-2, 0) sy yeerllseT cuf& eiFebID CHISGHMT (b 5 B &L 6Tevfled, BBISBHM(bH I-HeTE)
CrieGann S -&& OFRIGSINH JAeMOWLT?

The line 7 passes through the points (-2, 2) and (5, 8) and the line s
passes through the points (-8, 7) and (-2, 0). Is the line r perpendicular to s?

(3,—2), (12,4) eredip yeneflsen eufld zebaud GrisGsmp p OHMID
(6,—2) wpmub (12,2) erettm yemaflaer euflé @b Cri&Gasnb ¢ YGSWD. P SIS (-&S
BemevoTim@Lon?
The line p passes through the points (3,—2), (12,4) and the line ¢ passes
through the points (6,—2) and (12,2). Is p parallel to ¢ ?

(—2,5), (6,—1) opnid (2,2) spdw Yerefl@eT en CanLenonbs LeTerlsmer
GT60TE HML (b.
Show that the points (—2,5), (6,— 1) and (2,2) are collinear.

QaMbeaLIULL LeTeflsensT Qeneruid@lo ChI&GHMLIY60T FTLeneUsS S0,

(i) (5\/5) HMID ShSlLijeer] (ii) (sinf,— cosf) wOHMID (—sin b, cosH)
Find the slope of a line joining the points
(1) (5, \/E)) with the origin (ii) (sin®,— cos @) and (—sin 6. cos )

(—3,—4), (7.2) wpmib (12,5) eredTp Yeiterllome 65 BHMLEMIOBSHEMEU 6T60TS HML(hS.

Show that the given points are collinear: (—3,—4), (7,2) and (12,5)

(3,—1), (a,3) womud (1,— 3) spéu cweorm) LeTaflaeT b GamLenLobseneu ereufled @ -ullsor

&Y SMevors ?

If the three points (3, 1), (a,3) and (1,— 3) are collinear, find the value of a.

(5.7) etettp yeterfl aufl 6GFeugD () X 555G Senenunsa|d
(i) Y 21¥e5@ Seneoonunseyb iemohd GBI HEHML 60T FLOGTUTL ML HIT600TE.

Find the equation of a straight line passing
through (5,7) and is (i) parallel to X axis (ii) parallel to Y axis.

NetTeu(pLo eXleur g emanLl LeiTLh&SH) GBI &G HMLLG 60T FLOGITUIN(H STE00TS.
(i) smiey 5 LHMID Y eubdgietory —9 (ii) emiey Gamevond 45° WHMID ¥ Gleu’ hdgietorh 11
Find the equation of a straight line whose

(i) Slope is 5 and y intercept is —9 (ii) Inclination is 45°and y intercept is 11
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8z —Ty+6=0 eretip @GaMiedr &miey WOHMID Y U (HhSSHIETT(H
SHEWIUDEDDE &HETMHS(HS.

Calculate the slope and y intercept of the straight line 8z — 7y + 6 =0

. . . . . —O .
(3, — 4) eretrm ermerfludledr Ll iFEOEUSILD, - -§3 SMILGUTS £_6WL LIG|LOMEDT
CrIsGHM_Lq.60T FLOGITLML6WL& HITE0UTS.
Find the equation of a line passing

=
through the point (3, 4) and having slope =2

(5,— 3) whmpb (7, — 4) eTedtm BH etafl@er cuLflE QlFebapd Croif &BamLLq 60T
FLOGOTLIM(H SHIT600TE.

Find the equation of a straight line passing through (5.—3)and (7,—4).

Sl SiF5:5EHL 60T FLOLDMHEYLD, 6THIT GMILD 2_6WL LI Q16U (bS GI6T0T(HSHEW6T
gnubsS, (5,7) eredtn Yeter] el OFe@ID CBISGHMLIG 6T FLOGTUM 6HL& HITE0TS.

Find the equation of a line which passes through (5,7) and makes intercepts
on the axes equal in magnitude but opposite in sign.

1 -9y +36 =0 ereotn CGriaGsmh SpHw SFsHefld  aDUGSSHID
CEUL (hSH 6T (HSHENEITE HTEUUTS.

Find the intercepts made by the line 42 — 9y + 36 = 0 on the coordinate axes.

0z—y)+5=0 eretip GrI&GHM (b FOGTUTLIq60T &miley, &miley G&mevolid OHMID
Y-G16UL (b&§1600T(h SHEFILIEUDEDDS SHITEO0TE.

The equation of a straight line is 2(z —y) +5 = 0. Find its slope, inclination and
intercept on the Y axis.

gmie) Gamevord 30 HMID Y-Q6UL (b FHIeToTh —3 SpdeuhHemms Qanetor GrT &GS L et
FLOGTUM6DL& HT600TS.

Find the equation of a line whose inclination is 30" and making an intercept —3 on
the Y axis.

\/gq: +(1 - \/g)y =3 ereop GrpI&Gsmip &soerumliqer &miey, y-66u (bSHFHE0uTh
S HIIQUHEDNE SHITETUTS.

Find the slope and y intercept of J3z + (1-— \/g)y = 3.

(-2,3) wpmio (8,5) etedrp yeefleeT euflE GlFeOQID GHMLMEUTE, y = ar + 2 eTedrD
CrIsGaMliyh@&s Q&G SSTeTE eTeulled, ‘@ —ufedT L Smesurs.

Find the value of ‘a; if the line through (-2,3) and (8,5) is perpendicular to y = az + 2
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A cat is located at the point(—6,—4) in zy plane. A bottle of milk is kept at (5,11).
The cat wish to consume the milk travelling through shortest possible distance. Find
the equation of the path it needs to take its milk.

6(IH LLemenT TY-SenHHled (—6, — 1) eredTD Yeiterfludleb 2 _eitengl. (5,11) eredTm Leirerfludled 6 LIMed
LLllg emeusSLLL (beTemgl. LLeweoT Wl&sH GMnIsl SMTD LwlesoliSg N Umed SiiHhs eflaploUsSn g
6TeofleD, LIMemedl! LiHh&$eUSHDSGSH BHemEULIMTET UMemSUN60T FLOSTUML 6WL_& HMTETITS.

(19,3) eredTD YeiTerflemil SiquIN&ESH E1&Te00TL. G6eoTDIeuTEl O1FfIGsnevor (Lp&HB&Hmevor Ugafled
2_6Tengl. SHEWTUL 60T &6t erDLUbSHHID Fmileys Gaonevord 45 ° ereofled, &e0Tme0T Silg LoHMILD
o Sdlem @emevuid@Glb BHMIG60T FLOITUM  6WL& HITEO0TSH.
The hill in the form of a right triangle has its foot at (19,3). The inclination of the hill
to the ground is 45°. Find the equation of the hill joining the foot and top.

5

4

(—1,2) eredip yeiterfl eufl GlEebeugmIb, &mMmiey
FLOGOTUML 6mL_&5 HME0UTS.

2_emLuwigioneor GrpIHGsmLg edr

Find the equation of a straight line which has slope %O and passing through the
point (—1,2).

BB &EMbLESUUL(LETET =, i 616U (bSHHITuTbHemeTd 61&Metor  Bmi&SBsmbeerfledT
FLOGOTLIM(b &S 6MET& SHITEOUTSH

()4, -6 (ii) s_i
Find the equation of a line whose intercepts on the x and y axes are given below.

S G 53
(i) 4, —6 (ii) '

QambpesalUlL CrIsGasmbaefler FTUTLIGEHHE Sl AHE&safler Goed anLbSSHID
C16UL (b S I6T00T(HHEMEITS SHITE00TS.
(i) 3z —2y—6=0 (ii) 42 +3y+12=0

Find the intercepts made by the following lines on the coordinate axes.
(i) 3z —2y—6=0 (ii) 42 +3y +12=0

6xr + 8y + 7 = 0 etedtnD GBI HBHMLIG 60T FMLIEDHEUS HMTEOUTSH.

Find the slope of the straight line 6z + S8y +7 = O.

(1) 3z — Ty = 11 -&& Bemevonnent (ii) 22 — 3y + 8 = 0 -&@ GG SSMenT
CrisGaMLy60T FMLIEMEUS HTETUTEH

Find the slope of the line which is
(i) parallel to 32 — 7y =11 (ii) perpendicular to 22 —3y +8 =10

20+ 3y — 8 =0, 4z + 6y + 18 = 0 gpdw CrI&BsM(he6T Sewevur 6Te0TéH
ST (b.

Show that the straightlines 2z + 3y — 8 = 0 and 4z + 6y + 18 = ( are parallel.
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r—=2y+3=0, 6z + 3y + 8 = 0 2w CrI&GanbhaeT QTN &H6&TeTM)
O\FTRIB HIHMEUTEMEY 6TEUTS HML (b,
Show that the straight lines z—2y+3=0 and 6z+ 3y +8=0 are

perpendicular.

3r—Ty =12 eetin Gri&Gsminmng Senevwnseyd (6.4) een
Yerrerfleufls aiFeveugionesr GrIsGSMiIqein FIO6ITUML WL SHTETUTS.
Find the equation of a straight line which is parallel to the line 3z — 7y = 12
and passing through the point (6.4).

Y= é:;: —7 ereby GRISGHEMIGDHEGE QS RIGSSTETHID, (7, —1) ereirp

yemrerfleufls Fsbgieugiomeot GhT&GaHTLLY.60T FLOGTUTL 6DL& SHTE00TS.

Find the equation of a straight line perpendicular to the line y = i:r: -7
and passing through the point (7, —-1).

If the straight lines 12y = —(p + 3)z + 12, 122 — 7y = 16 are perpendicular then find *p’

12y = —(p +3)z + 12, 122 — Ty = 16 pdlw CrI&GaN(be6T QETNISHOSTEIN O&hIGSS!
ereufled “p.—ulledr W EiewLS SHMetoTs.
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